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Quick Start 1 – PRT 2.22 – Estimation Task 

• There is no installation script. Put application and help file in one single folder.  
 

• This version of PRT 2.22 is for Windows.   
 

• More detailed instructions are given in the help file, accessible from the application itself (at the 
Help menu item).  
 

• A quick introduction is given below, showing how to read data and obtain an estimate.  

 

Figure 1 

• Start from the Genotype Chart in the Control Panel, press the Open button, and read in the 
UnlikelyGenotypeExample.dat file. Select Genotype Chart tab if necessary.   
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Figure 2 

• The window should look like this. Make sure the genotype column and row indices are correct, 
and press Relabel to double check. 
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Figure 3 

• Selecting the Single Generation Tasks tab should lead to this window. Select the options as 
indicated. Note that the panel labels are in bold font only those panels which are needed for this 
task. Make sure the Output MSG List option is selected in the Output Options panel. After 
pressing the Go button the progress bars should be filled as shown above.   
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Figure 4 

• Next, go the Pedigree Reconstruction Tools window. Press the Show Main Form button on the 
Control Panel window if needed. It might be helpful to maximize the Output Memo to view the 
output. Notice that the estimated pedigree places individuals 1-19 in one sibling group and 20 in 
the other. The computation time was about 0.062 seconds.   
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Figure 5 

• To go next to the Output Grid select, for example, the Cascade Panels function.   
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Figure 6 

• Expand the Output Grid to see the entire output. This is the set of all MSGs. There is only one of 
size twenty, which means that the entire data set forms a feasible sibling group. The algorithm 
decided, however, that individual 20 is not part of the same sibling group as the remaining 19. 
This is because the genotypes of individual 20 at loci 1 and 4 are 1/8 and 1/2 while the 
genotypes of the other individuals are about equally divided between 5/6 and 6/8 at locus 1 and 
1/3 and 3/5 at locus 4 (this can be seen in the Genotype Chart). Therefore, the 20 individuals 
are not genetically excluded as a sibling group, but it is statistically unlikely that they are a true 
sibling group.  

     


